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- MAIN_Rod_to_Ref Practice.c
DR Dmain7 71 )L

- make radtoreflc L2 38140

> make radtoref

® OO0 N\ xterm

bash-3,2% make radtoref

qcc -¢ -0 MAIN_Rad_to_Ref_Practice,o MAIN_Rad_to_Ref_Practice.c

qcc -¢ -0 SPINC_SPproduct_Read_basic,o SPINC_SPproduct_Read_baszic.c
gcc -¢ -0 SPINC_SPproduct_L2B1,0 SPINC_SPproduct_L2Bl.c

gce MAIN_Rad_to_Ref_Practice,o SPINC_SPproduct_Read_basic,o SPINC_SPproduct_L2Bl,o -¢ SPINC_practiceR -1lm

rm -f *,0
bash-3.2% |}

ZiT17 74 NVSPINC prm‘:&teA
753:3}52 P h 4

SPINC_for_TANSA_v3

_L Calculating_Correction_Factor.c
» [l data
'S [:j DL_SPproduct

MAIN_Continuum_Removal.c

| MAIN_Rad_to_Ref_Practice.c

1 MAIN_simple_reading_L2B.c

"~ makefile

- SP_2B2_02_04208_N096_E3400.spc

el | | @

Spectrum.dat
SPINC_practiceA

STIiNG )llllplCl CGULZB

SPINC_SPproduct_L2B.c
SPINC_SPproduct_Read_basic.c
SPINC_supply.h

SPINC_yama.h
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L

=E 2 spintmpro\c&ﬁaﬁ\@%%ﬁ

(fiv75) spine_practiceA [spe7 74 V] [HIFRFES ]

(1)
7. /SPINC_practiceA SP_2B2_01_0420%_NO%%_E3400spc 10

5 i F- s EHENG

_“ Calculating_Correction_Factor.c
» [ data
» (] DL_SPproduct
" MAIN_Continuum_Removal.c
' MAIN_Rad_to_Ref_Practice.c
_simple_reading_L2B.c

U4208_N096_E3400.spc
~ Spectrum.dat
M SPINC_practiceA
M SPINC_simplereadL2B
" SPINC_SPproduct_L2B.c
" SPINC_SPproduct_Read_basic.c
" SPINC_supply.h
" SPINC_yama.h
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\| Gnuplot
' *Spectrum.dat” u 1:

“Spectrum,dat” u 1;2 ——

e mw-w«f)‘r*w'l‘

Reflectance
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(1) sfTHZMUTICESHZ 5,
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reflectance_daka] px 1 = radiance_datal px 1/solar_daka] px 1;

/*** EEEEE AR EEEE R E A AR AAEEEERRARANAA TR A A Ak ATk hkhhdddh tttt*******rtt******/ l

// (2) Calulating Reflectance from Radiance data. |

S— ‘/***!’!’f*******ttt!’*******fttf*******‘ltf*******tttt*******tt!’t*******!’I’!’*****/ i
(2) 4’41'—I E O) H:lljj 7 7 /{ ]I/% _double wavelength_data[ BAND_NUM ]; |
_double radiance_data[ BAND_NUM ]; |

%% “double solar_data[ BAND_NUM ]; |
_double reflectance_data[ BAND_NUM J; |

- "Resulb_Adat” — “Resulb_A.dak” A QOTPLJTFILE 'r\,w[' Open("ResuIt A'da" ").
(%Hﬁciﬁ/\/f% i 11)) :for(px-O px<BAND NUM; px+=1){ |

//(1) Reading Solar Data |
fscanf(INPUT_FILE_NAME, "%lIf 96If %*If", &wavelength_data[ px ], &solar_data[ px ]); {
//(2) Giving Radiance !

- IPIDREHR E—HT 2 HILT 572D, _sadiance daral px ] = (double)(AG datalinout lie].radiancelpx]* AG.file_head.SCALING_FACT

{ //(3)Heregoforit!l '

reflectance_data[ px ] = radiance_data[ px })/solar_data[ px ;! §

: :fprintf(OUTPUT_FIL[_r\'AM[, "%.1f %.4f\n", wavelength_data[ px ], reflectance_data[ px 1); {
1

felose( INPUT_FILE_NAME ): |

fclose( OUTPUT_FILE_NAME ); )
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(1) make roadtoref
(2) /SPINC_practiceA [sP7—% ] [HSFES]

©)) gnuplot> plot "resulb.dat” w 1:2 w |, "Result_Adalt" v 1:2 w L

'\ Gnuplot

"result,dat" u 1:2
"result_A,dat" u 1:2
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') a[AV]TORBN 7 7 v 7 R
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F'(n)=F(n)-( ; )

FIE5 : MAIN_Rod_to_Ref PracticeciiB T EDAZE KBLE &2

® OO0 N\ xterm

bash-3,2% ,/SPINC_simplereadlL2B SP_2B2_02_04208_N0S6_E3400,spc 10
Revolution = 4208 .

:;%i:: H (547 fis - TR OR R A O SR Pmrcainne”

N Bﬁi—ﬁ F‘EﬁEE Ig—\'jlﬁ % I] % ck— cj: ? Altitude = 121,466141
SP Observation Latitude = 9,346907
SP ObservationSP Longitude = 340,011015%
Incident Angle = 21,191486
Emission Angle = 0,742808
Phase Angle = 21,466702
SP1 Temperature = 18,330000

2258 S? g LA L LZB SP2 Temperature = 20,703999

IML'MS L P Q SP3 Temperature = 18,770000

SP4 Temperature = 21,730001
Peltier Temperature = -0,539474

M1 Focal Temperature = 18,160000
Kaguya Direction = 1 Ascending

bash-3.2% |
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[AU])2

F'(n)=F(n)-(

a

SP i CDIA 77 2l
(IYKB-HEHE Dem] — AGSile_head MOON_SUN_DISTANCE
(2) 1AUDE (149,897,%70 km) — AU_UNIT

- solar_daka[ JICLI T %,
(AU_UNIT/AG file_head MOON_SUN_DISTANCE)*(AU_UNIT/AG file_head MOON_SUN_DISTANCE)
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'\ Gnuplot

“Result.dat” u 1:2 ——
“result_A.dat” u 1:2
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[Ref = ¥.29%43x10 xwave + 0,207229
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L2B1: Revolultion = 6265 Line = 5&3' L2B!: Revolultion = 6265 Line = 5885
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FIE2 : WHDOFZ EL

BT 7 — ¥ (reflectance_daka) & pxl, pREMEST, 374 = a— Allinear_continuum_data) &

2V 54 = a— 5 TH - 2 KEE(ContinuumRemoved _reflectance)z iHE

/'77""'t"""" AAAAAANEEEE R AR AR AR R RS "'t"vvyyvt"'ttttttﬁ"'tftit/ |
L

// (2) Calculating Continuum Removed Reflectance. |

/'0"0000000000o'ooaat.btto.ooﬁ‘otaat00'00000000000"""'0000.QQQQQQ.Q.QQQQQ/ |
b4

lata[ BAND_NUM }; |

double refle \ :;A[ BAND NUM J; { ¢ -
double linear_c ta[ BAND_NUM 1; | | (1> FXlkFA‘XZ 5% E LT%"Z_%O

reflectance[ BAND, JidHfT;

int px1 = atoi(argv[3]); +
i 2 = atoi(argv[4]); {

46 // Giving Wavelength & reflectance |

47 px=0); _::x<BAND NUM; px+=1){|{

48 th_ds px ] = (double)(AG.data[input_line).wavelength[px] * AG.file_head.SCALING_FACTOR[SCALING_NUM_WAVELENGTH] +AG.file_head.OFFSET[SCALING_NUM_WAVELENGTH])); |
49 eflectan l_‘__ude[ px ] = (double)(AG.data[input_line).reflectance[px] * AG.file_head.SCALING_FACTOR[SCALING_NUM_REFLECTANCE )+ AG.file_head.OFFSET[SCALING_NUM_REFLECTANCE)); {
50 } }

51 // Continuum-Removed Reflectance &

52 //Here Goforlit!}

53 |

54 |

55 // Qutput |

56 OUTPUT_FILE_NAME = fopen(“result.dat","w"); |
57 for(px=0; px<BAND_NUM; px+=1){ |

58 fprintf(OUTPUT _FILE_NAME, "9.1f 9%.4f %.4f %.4f\n", wavelength_da re data[ p near_continuum_data[ px ], ContinuumRemoved_reflectance[ px ]); {
59 }4

60 fclose( OUTPUT_FILE_NAME ); |

61 l

62 returnO; |

63 }!

64 //EOF |

20
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Foxl & PXZ 25T, Linear _continuum_daka Z 51 HEL

= 6265 Line = 58835

Reflectance

Wavelength [nm

y — Linear_conbtinuum_daka

x — wavelength_data

Y1 = reflectance_data[ px1 ]
Y2 = reflectance_datal px2 ]
x1 = wavelength_data[ px1 ]
x2 = wavelength_datal px2 ]
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Kb 7713 EH .
(1)

slope = (reflectance_datal pxl ] - reflectance_dakal px2 N/ (wavelength_datal pxl ] - wavelength_datal px2 N,
intercept = - slope * wavelength_datal px1 ] + reflectance_dakal px1 1

ContinuumRemoved _reflectance
reflectance_data 7 i

Linear_conktinuum_data




(DImake conktinuum

EI77 74 }bS‘PINCMPerELtQBﬁS‘i)ﬁ

(2) /SPINC_practiceB [SP7H 57 b DEDS ] [valj [pr]

pxl. szciﬁﬁﬁﬁ”%?ﬁw,%@%?%ﬁ%%?iﬂ“@%i% (— &R Cipx:O) -

Y 782 . %nm — pxl=40, 1665.6nm — px2=16%

— vesulbk.dakics— vz nz

resulk.datDH
(DYEE QYR (3Yarv T4 =2a—24 (4)a v 574 = 2 — LB O KSR
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e B px’?:”ﬁz.tc@ )

gnuplot> p "resulb.dalt” u 1:2 w L, "resulbdalt” w 1:3 w L

'\ Gnuplot

“result.dat” u 1:2 ——
"result.dat” u 1:3/
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gnuplol> p "resulkdat” u 1:4 w1
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X, Gnuplot

"result,.dat" u 1:4 ——
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